Stopping By Woods On a Snowy Evening

Textual Activities

Comprehension

(A) Tick the correct alternative :

Question 1. Where does the speaker of the poem stop?
(a) At a farmhouse near a frozen lake

(b) Somewhere between a village and a farmhouse

(c) At avillage

(d) Somewhere near woods and a frozen lake
Answer: (d) Somewhere near woods and a frozen lake
Question 2. “He" in line 3 refers to........

(a) Horse

(b) A villager

(c) The owner of woods

(d) The poet (speaker) himself

Answer: (c) The owner of woods

Answer the following questions in 15 to 20 words each :

Question 1. What does the speaker want to do near the woods?
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Answer: The speaker wants to stop and admire the beauty of nature near the woods.
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Question 2. “He gives his harness bells a shake. ...” whom does “He" refer to here?
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Answer: The word “He" refers to the horse of the poet. “He”
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Question 3. Which sound does the speaker refer to in stanza 3?
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Answer: The poet refers to the voice of the easy wind and falling of the snowflakes in
stanza 3.
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Question 4. Which word in the poem indicates a change in the mood of the speaker?
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Answer: The word “But” indicates a change in the mood of the speaker who decides to
go miles away before sleeping.
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Question 5. What contrast do you find in stanza 3?
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Answer: In the third stanza we find a contrast between the thought of the horse and its
rider. The horse thinks that its rider is making a mistake.
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Answer the following questions in 30 to 40 words each :

Question 1. What does the speaker want to suggest by referring to the owner of the
woods?
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Answer: The speaker suggests to come into the contact of nature and admire its beauty
by referring to the owner of the woods. He means to say that human being should love
nature and always live in the contact of it.
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Question 2. What do the words, “My little horse” signify?
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Answer: The words “My little horse” signify that the speaker and his little horse probably
spend a lot of time together and the speaker is able to read the little horse’s mind.
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Question 3. What does “must” in line 5 suggest?
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Answer: The word “must here suggests the determination of the horse which feels it
strange of stopping of the poet amid the nature. It shows strong relation between men
and creatures of the nature.
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Question 4. Explain the meaning of the last two lines of the poem.
Pfadar ot sifaw St arsl &1 3 TH=TST

Answer: The last two lines of the poem explain that the speaker is very far from his
home and he feels the need to go miles away. He is determined to finish his journey
before going to rest.
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Answer the following questions in about 150 words each :

Question 1. Write a note on the style of the poem.
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Answer: This poem has been composed by the poet Robert Frost as an expression of a
mood. The language of the poem is full of suggestion in which we find directive and
command nature of the poet. The words have been used easy and full of inspiration
there is perfect sense of international touch in the language. There is not perfect use of



provincial language. The poet uses directive sense. Which encourages the readers to
obey the command of the poet and adopt his advice as an objective of the life of human
being.

The words are simple and the phrases contain deep thoughts which touch the inner part
of the soul and develops the sense of great emotions in the heart and mentality of the
readers. The poet uses personification to communicate to the nature. The rhyming
scheme is based on the pattern of AABA and full of illustrations.
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Question 2. What is the central idea of the poem?
HIAAT BT B4 WG FIT 32

Answer: On behalf of this poem the poet discusses about the importance of the nature
in the life of a human being. The poet says that the nature is the gift of God to men. The
men should come into the contact of nature and enjoy its beauty. The poet clears that
nature is the source of inspiration which advises men to avoid the company of this
materialistic world which is mortal but the nature is the way by which we can achieve
the target of our life to achieve immortality in this mortal world.

The poet says that the man has been granted limited duration of life which must not be
wasted by staying at a particular place. We ought to proceed onward and carry on our
journey. By doing so we can visit this world more and more. He means to say that
before our death we should fulfil our duties and liabilities.
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Additional Questions
Answer the following questions in about 60-80 words each :

Question 1. Why is the owner of the woods unable to see the poet?
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Answer: The owner of the woods is unable to see the poet because he never goes to
see his woods which are full of snow. The poet clears that there is not any sense of love
and attachment in his heart for the nature. The sense of avoiding from nature will
distract him from the poet and he will be unable to see the poet.
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Question 2. Why does the poet stop in the woodland?
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Answer: The poet stops in the woodland because there is a soft corner in the heart of
the poet for the nature. He loves nature very much and wants to admire the beauty of
nature. The poet is inspired with the stillness of the nature and the snow makes him
introduce with the sight of death which is essential and it is beautiful. It insists the poet
to stay there.
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Question 3. Why does the poet call the evening “darkest evening of the year”?
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Answer: The poet calls the evening darkest of the year because there is not any sign of
life. There is complete stillness and the snow makes every movement of the nature still.
It develops a great sense of gloom and hopelessness. The poet counts his life still and
useless. He notices the sight of death before him and counts the evening darkest of the
year.
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Question 4. What symptoms of life does the poet find in the frozen woodland?

®fd B T | 5 gE ST § ofta & «ar daor femrs 34 82

Answer: The poet finds blowing wind slowly and regular falling of the snowflakes. It
develops positive sense and he finds the symptoms of life in the frozen woodland. This
regular process of snow develops the sense of hope about new life after death and it
encourages him to make his journey carry on miles and miles away before sleeping or
death in this mortal world.
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Question 5. Why does the poet call the woods lovely, dark and deep?
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Answer: The poet calls the woods beautiful, dark and deep because they make him
realise about the reality of life that nothing is permanent in this world. He calls them
dark because it is not easy to understand the lesson behind the stillness and it requires
deep knowledge to understand the utility of the nature in the life of human being. The
poet says that the nature is full of secrets and long submission of the man can make
him eligible to understand its secrets. In this way we ought to be the companion of
nature.
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Question 6. What promise does the poet make to himself?
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Answer: The poet promises himself to carry on his journey and go further miles and
miles before sleeping. The poet clears that staying at a particular place is the sign of
death so that we must remain active and go ahead during our life time. This world is full
of diversity and beauty as well as the knowledge so that the human being should come
into contact of nature in order to enjoy the liberty of life and get the opportunity of
achieving the target of life.
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Question 7. How does the poet show great relation between men and natural
elements?
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Answer: The poet shows great relation between man and natural elements. He says
that there is perfect understanding between man and nature. Such as the horse of the
poet understands his mental condition and tries to ask his complication of staying amid
the nature. The frozen lake and the woodland tell the thoughts of stillness of the poet
and his action of hopelessness but on other hand blowing air and dropping of snow
make him active to go further before his death.
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